LEH-ay (Qung Siflay)

‘ | Part-B (Général Studies)

. femdsst :101-200 Qurss wHuQueinsst : 150
'Questions :101f200 | - Total Mai'ks o 150 .

101 Arrange the followmg in chronolog1cal order Wlth respect to thelr 4'
Chief Ministership in Madras Pres1dency

1. P.T. Rajan |
2. A. Subburayulu Reddiar
3. P.Munusamy Naidu
4. C. Rajaji

5. P. Subbarayan

A 24,385, 1 .'

®VE 5,3 1,4

(C) 59' 3’ 1’ 2’ 4

D 3,1,5,2,4 -

(E) Answer not known

 sroafesiLy. gTTen Lorrasrramrgﬁm Q,pgsa)mm&&rrasmm mnﬂm&uu@ggw;
9.iq. grgger

. &uqurryqum’_tq.u_lrrﬁ

9. pausmd pry@

8. gregmed :

, '4511 SLILITTLIGT
A) 2 4,3,51
"B 2,53 1,4
©) 5,312 4
D) 31,524
E) oo Opfuciome

oL 0N =
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102. Find out the incorrect pairs :

() Maharashtra .- Bi-camral legislature
| (ﬁ) Telangana - Uni-camral legisiature

(i) Bihar - Uni-camral legislature
| (iv) Aﬁdhra Pradesh - Bi-camral legislatui'e_

| A) @), (1) and (111) are incofrect pairs
(B) (1) and (i1) are incorrect'pairs

(CVMli) and (iii) are incorrect pairs
(D) All are incorrect

(E) Answer not known

seuprer @enemrenwids searLHls.

@) ma;rruri‘dqanJrr' - FFIJ'GDQJ FLU_LOETPLD
(11) OzgurtisTerT —  g@rea &I;L;LD‘dT’mlb
- (1) ﬁérrr‘r - — @ LG
(1v) <pdnAgCsewd - moa &L.L_‘wdn;o;b

&) ), i) wppe (i) saprer Gean
B) () wppo () gaprer Gear
(©) (i) i (i) sesprer Genem

| ) Si@ensgIDd Mmm @mw

E) e Osfucioma
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103. Choose the right match :

1. Taxes levied and collected by union — Art 269
but A331gned to the state , ’
2. - Duties levied by the union but collected = — Art 268
| and Appropnated by the state | o o
3. Tax levied and collected by the un1on —  Art 267 -

but which may be distributed between
union terntory and states

: (A) 1 only
- (B) 2 and 3 only
'(C)%and 2only
(D) 1and3only

(E) Answer not knowri -

: &rﬂu_lrrasr:@a)mrmu_l‘és Carb@s® : |
1. Lpgﬁu_l <iETed AfssrLc @, uGAESILLG |
| " -Lorrﬁé)mja;@é;@ PEEES Salqlll QUETEIGET - aq.rygg,j 269
- 2. wsHu st Qﬂﬁ&&LIUI_@ parré rfle ogs - aprsg 268
u@GELILg LHNID LWETLIOSSIeS .
3. wadu sirere) APssLLLE, m@aﬂas&‘uul'_@ - aynsg 267

wrHleniser LHHID weflwier ﬂq@g&mas@a;@
udipselsassniyw eflser

A) 1wreb

(B) 2 wppd 3 LD

(C) 1 mmm 2 L_Hitb |
D 1 meg;m 3_@L'_@Lb .

E) e Gpfucioma
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104. Cancer of the epithelial cells is called _
(A) Leukemia - (B) Sarcoma

(C)Warcmo_ma | (D) Lepoma

(E) Answer not known :

Gﬂﬁ]ﬁaﬂu_la) Qacradled uﬂ)g@pnu_l a@mnmg,,m@ —————— eramy QUi
. (A) Qr&ECamdlwm , (B) eniaGamon |

(C) smiflGarmor D) aS]L'JGurTLDrr
(E) Mo Gsfueidme i

105. Match the following : |
. National Parks ' | States

(a) Gir National Park " 1. Rajasthan
~ (b) Corbet National Park 2. Jharkhand
(c) Rajkir National Park 3. Gujarat
(d Ranthambore National_ Par_'k 4. Uttarakhand
@& ® © @ |
@A) 3 ,4 1 2
' .(B) 4 2 1
Vs 2 1
D) 3 2. 1 4
(E) Answer not known
QuTmSFIs. | | ‘
- Gaflun yrer | | wrBlen N
(a) flir Calwilr yisasm 1. @urrgevgmen
(b) sri@ur Csdlwr: LpBisT 2. griser.
- (© @urgdi CaAuw yhisn 3. &yIs
(d) @ubsbyf CasAlwr Lyhis 4. o ggranam -

@& Gk @© @
“W3 4 1 2
(B) 4 3 2 1
)3 4 2 1.
D) 3 2 1 4
(E) Ao Asfucddama
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106. Which of the following Stateménts_afe true?
(i) Zinc blende 1s concentratéd by magnetic separation process
(i) Haematite is concentratéd by graﬁty separation procéss

(iii) Aluminium is produced by the electrolytlc reduction of fused

- alumina |
(iv) Matt_e is a(mixt.uré‘ df éuprig sul_phide and ferrous sulphide
@) (@) and (i),
®) () and Gv)
(M) and (iid)
© @and@)
(E) .VA'nswer.not known

&lépesaamn_mmgm gilwiren sax,rog)jasm eTenau ?
| (1) Ams verer smheL ALY @mmuﬁlm an.rrulﬂ]asasuu@aﬂmg
(1) GamwenrL . yeSuliiy apenpulled aLﬁulﬂéauu@ﬁmg
(3i1) &@aﬂu agmﬂarrrma.l Lﬂasrarrm) u@uu wenpuliléd @@asé\ a@daﬂu_lm"
Gumuu@eﬂmg} _ :

,(IV) CSLDI_ GTEHTLIZ) @utﬂa; &a)anu@ LHmILD Qummo geoenL(H cg,és]u_lmm,rﬂar_’
sOMAILITGD :

A O oppid @)
C® ) oppe ()

© G wppo i)

D) (i) wppu> (v)

(B oL Osfudons

st CCS4T2022
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107. Match the following countries with their Mars Mission :

Country

(a) USA
‘(b) India
- (c) Japan
(d) China
@
A4 1
(B)/z.
() 2
D) 4

(E) 'AnsWer not known

(b)

4
1 .
4
1

©

3
4

-3

2

W = W N

- Mission

W N

(d):

Mangalyan

Psyche
Zheng He

. TEREX

| &psanL prpsmer sigarn ey Waydr 2.Lar QUITGESIS.

®)

'(r_r,rr®5é'rr
(@ wyevg
) @pdur
© spUILITEn
@ fer
(a)
A1 4
B) 2 1
© 2 4
D) 4 1

E) oo Asfiueome
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108.

100.

Find the odd one out. - N
‘(A) Illamchetchenni . ° - @B KOchchenganan

(C™PBerum Cheral Trumporai (D) Perunarkilli

'(E) Answer not known

QurmbBsTEMSE STl . -
(A)  @eresCs Qsenar (B) GarsQsmisammen
(®)) :Qu@'@G&U@ Qmbeurap ‘ D) QumphAered

(B) aflenr. Gsfuaidena

Which of the following statements are true about the post sangam age?

(1) Pathinen keel kanakku texts, 1nclude eighteen texts whlch mostly
deal with ethics and morel codes.

(i) The most important of these Th1rukkural and Naladlyar

v‘ (i) Sllappathlkaram and Manimekalai are the two texts deals with

Cultural and Rel1g10us h1story

(A) () only True (B) (11) only True
(C)%, (ii) only True - (D) (), (iil) only True

(E) Answer not knpwn
&gpasaim_ aunsdlunisaiier #his LD@@S]UJ a;t‘rmg,éldrr sflwurer gapm) érgj?

(1) uvdCarp prosamer a_enem_aséflu_: u@@mm&g&am&s@ ETeO&ET Qu@wunguu)
2wss Aphlpapsmers uHD ampdpg.

(i) eeupper HHESDEHD, FrOQLITHL PSET@LITRTSTSLD.

- (1il) Aevudstyepw, welGosmeuh  udTUTE  WHDID FOWEDS '|__|,rjj,rﬂ

samdlenmer.
A @ oo s B () oo e

© O, ocppsh D) @), (i) weEw s
(E) aﬁlml_Qgrﬂu_:éS’ld)msn “ '
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110. Arrange the following events in the _Chrdnological' or.'der‘: |
1. Death of Pulithevar | |
2. Death of Kuyili |
3. Death of Kattabomman
4. Death of Maruthu Brothers

A) 2,3,1,4 | (B)‘{z, 3.4

© 1,324 - " (D) 3,1,4,2
(E) Answer not known | o

ECp QBSI‘I’@&S&SLIUL.@G?TGT flapeyseear q;rraimrﬂm&ﬂu@ggjs.

L yasCpafler @iy - .

2. s@SGer @iy | | | |

3. slLuGumboeier @oriy

4. BgeCangyisafer @ﬁ)uq

@A) 2,3,1,4 . ®) 1,23, 4

©€) 1,3,24 D) 3,1,4,2 |

(E) e Gsflweildrana - I ' ’

111. Who was the First Women Doctor in TamjJnadu? |
(A) -Moovalur Ram‘amir'dham' (B) Muthulakshmi Reddy
~(C) Dharmambal | (D) Pandithar Ramabai

(E) Answer not known |

SOPHIIger PSS QUET W HSSIeuT Wit ?

(A)  epagrt gromAlign (B) wss0 0 Qlﬁ‘_Lq.
- (C)  smombumer o - D u‘elqu_g,r'r ﬁrrmn;lrrul |

E) efler Apfucioeme
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: 112 Which of the following was founded by Rettalmalal Sr1n1vasan‘7
(A) Sakya Buddhist Society ' :

(B) Advaidananda Sabha

(C) - All India Depressed Classes Association

(D)VWK4i Dravida Mahajana Sabha

(E) - Answer not known :
deraumelaeuppIeT g FenLl @UL_am_mma) Safleunsanmed geurma;uul_l_gl?

Q) ersdlu Quergs ssd
B) <saoagrenss sum
(O wfe @b @OssILC G sRsD
D) <8 Horel waTgear seu
(E) &ferr Qsfweldome

113. 'Mat‘ch the following : »
| Indus Sites Excavated by

(a) Chanhu-Daro 1.  Swuraj Bhan |
(b) Lothal 2. N.G.Majumdar
(c) Banavali 3. S.R.Rao

(d) Mitathal 4. - Bisht -

@ b © @ |

A 2 1 4 3

B2 3 4 1

© 1 3 2 4

D) 1 4 3 2

(E) Answer not known

QurmSHs :. A -

Agl FwCeuef pa;mmesen DispaITymiFSuITaT

- (a) saraw9-gnCyr 1. @rg umer

(b) Cargzer 2.  eren.g). wggrbgTT
(0 wvermeuall 3.  erev.gyi. gmeu

(d) LEILL_WQGB 4 Qeg

@ ® @© @

A 2 1 4 3

B 2 3 4 1

©) 1 3 2 4

@ 1 4 3 2 ~
(BE) e Gsfueideame |

TR | 3 - | ccsmzozz
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114. Which of the followmg statements about Bhagat Singh are true"
(1) In 1930 Bhagat Slngh attacked the Chlttagong armourles
(1) In 1929, Bhagat Singh and B. K Dutt threw a smoke bomb 1inside

the Central Leglslatlve Assembly Hall
(iii) In 1925, Bhagat Singh formed Hindustan Republican Army
(AN (i) enly -
B () and (iii)'on1y
© 0 and (i) only
@) (i) and (i) only
(E) An'swelt not kriown o
&;péssn@.m m@gjaaﬂd) LspAt Qpm_funar sfurer aax,rj)mmé; s s :
(1) 1930-@e uasgeﬂrm S Lsm 5L uml_g,g,mg,mg, grrasé]anrrrr

(i1) 1929 Qo ussfl 19.05. sHgIe @mampgu LD‘Q,:QUJ &l_l_uGuumeu LBg
@aﬂ@ Sflemit -

(i) 1925-ay0 () s @pgicvpTer @wmm@ Apeférmt
@A) () oo | a

(B) () wpgud> (i) e Gib ot
| (C) @) m;bgjm (i) wED &

o (ii)\ o> (i) i Gib of

E) e Osfuciome
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- 115. Arrange the following Newspaper S and Journals of Thantha1 Per1yar 1n-

chronological order.

1. Paguththarivu

- 2. Viduthalai

116.

4. Puratchi = | o '
@A) 4231 - ' (B)‘/

(B) deL Gsfludlome

3. Kudiarasu

3
€ 3,2,4,1 B D) 2,
(E) Answer not known : .
Spésamaupper  FHas Quiflwimdlr G]&u_@g,g,rrma;mmuw Bspa@manud
&Te (pepliLly. aflesiubsss.

1. uessdey

2. dA@psme

3. Gyuwre

4. ypd

A) 4,2,81 ' " (B) 8,4,1,2
€ 38,2,4,1 | - D) 2,3,1,4

(E) ofieni Gzfweildena

Assertion (A) : The Indian heritage advocates hospitality, charity,
o | friendship, love,. respect for parents and- elders and
tolerance. ' o
Reason (R) : - All these help the people to hve in unity.

(A) oth (A) and (R) are true (R) is the correct explanation of (A)

(B) Both (A) and (R) are true (R) is not the correct explanatlon of (A)
(O)  (A) is true but (R) is false

D Ais false but (R) is true-~

(E) Answer not known |

Y )71 @pﬁm urgbufiub  ererL Qﬂ@p@gnwuw DS, BLL|, <DL,

QupCprerguyd  wHpd QuAlweTEeTLD w@g,gco OHMILD &é;]qu; .

. peTe@waw adlynSsIesTELD.

sryewtd :  CGupamdlu LT ST Gmmgnmwa;a»m OBS LO&EET @mgmmux_m e.mgg ‘
a_gme%]m,r_r)a'r .

Q) sppid smyemapd &, sryewd aaxgpgjasa;rra'r ElﬂU_IITQﬂ' Aarssid

- (B) sppiw srgemmapd &, sryemid ah,r_r)gua;a;nccr &lﬂu_lrrm Gﬁ]masasm s{o.)a)

O eampp &fl, smyewmd gougy -
D) smpy seug, TgerTd afl

37 | . CCS4TR022
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| 117. Maﬁch the following: |
(a) First\FiV,e Year Plan 1. ' Economic stability
() Second Five Year Plan 2. Growth with stability

(¢) Third Five Year Plan 3. Problems of refugees, food shortage
| - and inflation,

(d) Fourth Five Year Plan 4. Self-generating economy
@ O O @
@ 1 2 3 4
"® 4 1 2 3
3 1 2 4
®1 3 4 2
- (E) Answer not known
Aenaupaarapept AUIbSES. B
(@) s gg,g@@ ALib o 1. Gurr@eh‘ﬁgrm Powsseaen
(b) @remreug misTen@ ACLb 2. ﬁmasggemmun_sar s aueisd)

(© openprasy mpsTenG HILbd 3. Ssdadr, 2.ame LHDTEG®D wHDID
_ ' uenreiss HEsaseT

@ prévanag mEsTEr® Srid - 4. Sw o EATESH QuigeTgmD>
@ O © @ |
@1 2 3 4
® 4 1 2 3
© 3 1 2 4
2

D 1 3 4
(E) dlenr Qsflweldare

CCS4T/2022 - 38



118. Arrénge the following pians in Chrdnologicél order.

() Gandhian Plan | o
i) Bombay Plan
(ili) Jawaharlal Néhru Plan
(iv) Vishveshwarya Plan
@ 6, G, G, @

' (B)‘ﬁ'v); (i), Gi), () | |

© o6 0 s
® G, 6,6, G | :
(E) Answer not known

- Spssan ;;L;mjémm a;nm@,odamuum, afesiu@sss.
@ smpfuis Seio |

- (i) L}nmcu-ﬁu;._ﬁ
(ii}) gesgntans Goe AL
(iv) et Gassariun Srin |

(A @), (), (i), (v)
B) " (@v), (i), (i), @)

| (C) ), (1), @v), (id)

), 6, (), )

® o Gsfuaidma

39 | CCS4T/2022
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119 Arrange the source of revenue of government of India for the year
2020 211in descendlng order

i GST
(i1) . Personal income fax
- (11). ExciSe
(iv) 'Corvp‘orate_ tax S
) Custofns .
@), Gi), Gi), (), )
® (@), Gv), (), (v, (i)
© ), (v, G, G, v)
- D) @), @), @), @), (v)
(E) Answer not known

- 2020-21 S QY ERTIg HESTET @pﬁu :wyeﬂarr QAT EPEISMET  BIDEIE
cuflangulled wrﬂm&uu@g,g,ja; _ _

@ GST

(i) s aporer aif

(i) Sroa

(V) Apever el

%) sws af

@) @, @), (i), Gv), (v)
(B)_ @), (v), @), (v), (i)
©) @, @v), (), (i), W)
D) @), (), (1), (i), (v)
(B oL Gudons

CCS4T/2022 | 40 - o



120. The birth rate is estimated in terms of
(1) Number of births per one hundred population in a given year
(ii)' Number of Births'per one lakh population in a given year -
(111) Number of births per one thousand population}in ten yeai's |
. (iv) Number of births per one thousarid population in a give'xi year
@) Gonly N ® Gonly
(C) (i) only , | D) Gv) only
(E) Answer not known ’
lfﬂj_l‘)LlL] lflgid @sen é-ILq.LJLIGDI_uS]G\) mﬁuﬁh.uu@éslmgj
D) oo P L Hyeamgd HID wesdT grasudd lﬁmg,g,mrrasaﬂm Gramasvﬂa;a)a;

() em GO L yarged @@ @o)l_& LO&SHET Qg,rrma;uﬁ]w YGppseuisefler

eTERTERTI G
(i) ugg c%s&cr@a;aﬂd) <pu9gid u_)é;ase'rf Qgrensude Qm‘r_‘r,gmr'ra;aﬂdsr sreireRdens
(v) e® GHlnace eg,amq.a) <puQid L0&56T Qzrensuier Apbseuisaiicr crameniisma

A) () oo | ‘ (B) (11) bL@Ew
. (C).. (iii) b - - D) (v ol Gid
(E) eflenL Qgrﬂu_lsﬁlébmm o

121. If the difference between C.I. and S.I. on some principal at 15% p.a. for
' 3 years is ¥ 1,134. Then the principal is <

N 16,000 -  (B) 15,000

~(C) T 14,000 - (D) T 20,000
(E) Answer not known | ’

- 15% aej,em(b\ culigufied 3 %am@as@as@a SoL&@Gb sl - QUG EGLD, gaﬂ
Ly &G @ml_(BUJumm aigduwimad T 1,134 crafllé sigen sisd
(A) 716,000 | . (B) % 15,000
(C) ¥ 14,000 (D) %.20,000

- ~(B) el Qsflweideaae o :
6o o R S o . CCS4T/2022
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122.

IfHCF of p andqlsxandq = xy, find the LCMofp andqfrom the
following = ,

@A) pg
B ay

C) xy
(DWVDy
(E) Answer not known

D oppib g-e LBuGu@ Qurg uEsH X wHPIb ¢ = XY Graﬂa) D wpmitd g-ér S&fgy
Qurg WL hiams %Ggguerrmmmﬂaﬂ@‘r_sgj ST, _ |

(&) pq - o
- ® o - -

123.

© xy

D) py

(E) efenr QsMweldene

The length of a. rectangle is . (3x + 2) units and its breadth is
(3x units. Find its area. (x= 20 umts)

(A7)596 sq. units - »

(B) ? 3956.sq. units

(C) 4256 sq. units’

(D) 5356 sq. units

" (E) Answer not known

e@ Qsaiaussden Berd (3x + 2) DIVGSET LOHIILD aqgarr SISO (3x 2) si@ser
aafld iger uFliaaas srans. (x = 20 aa)@a;m)

(A) 3596 s.aEGs6T

(B) 3956 s.owEsdr
© 42'_56 F. DV GSET

(D) 5356 5.@@EGs6r

(E) e Qgfuediama
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- 124. Two dice are rolled together find the probab111ty of gettmg a doublet or

sum of faces as 4

Q) 1/9 | | (B) 3/9
©) 49 S oV

(E) Answer not known

- @oer® useLsar @Gy Gprsde e_@l_l_uu(l,\mQurr@g @Umqgum @Gy @psid

DG snpsd 4 HaLss ‘nﬂasggga;m SIS
A 1/9 . , . B 39

C© v D2

125.

(E) &Moo Qsfucddme

Kala and Vani are friends. Kala says, “Today is my bifthday” and she

asks Vani, “When will you celebrate your birthday?” Vani replies, “Today
is Monday and I celebrated my b1rthday 75 days ago”. F1nd the day when

~ Vani celebrated her b1rthday"

(A) Tuesday

. BV ednesday

(C) Thursday

(D) Friday
(E) Answer not known , | |
g Hpb arml @oamd paTuisar. ‘@ g GpHs BT erer Sa)rr

Saflammer. aurenfllib “earg Gpps prever eriGungl § Qsram_r@eumi?” ered

GaLLnar. sigp@ arefl “‘@Qap Hhus dipew, prear aargorw Gpbs preer
75 prisenig e Qsnam_mgCarer” orer u@waﬂgsgsrrm anesfludlan AppepreT

. apgs Apewied aupdnesh das anars.

(A) Qseueumis Aipanwo

(B)  yger Apeno

(C) &fwumper Sipenwo
(D) Qeudrafl &ipenio

(B deu Gpfudons

3 | © CCS4T/2022
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126. The greatest 5 digits number, which, when divided by 3, 5 8 and 12 have
2asa remalnder is

. (A) 99972

(B) 99958

(C) 99960

(DV99962 |

(E) Answer not known

@@ Blsi Quiiv pis @ess aarmar 3, 5, 8 Lom@l.b 12-a m@és@m Currg,

 HeLseh 88 2 aafle, Blsl Quilu gbg @wa;as cramam'rrrarrgj —— .

(A 99972 | |

(B) 99958

(C) 99960

(D) 99962

(E) e Gzfweldene

127. The ratio of 435: 25 is same as
@ 2:1
(BML: 1
(© 17:5
@) 7:10

(E) Answer not known

43598 Grdsrug,m@ gwiorar e9Hsid.

@) .2:1

B 4:1

© 7:5

D 7:10

(E) oL Qsfueldame

CCS4T/2022 .  u | | m



128. 4P+Sr9B#A3?7c>Z%6d*Q@1
~ If the first half of the series is written in reverse order, then Whlch

129.

element will be fourteenth from the right end?
@& > - ®) A

© Z o

(E) Answer not known ' -

4P+Sr9B#A3‘77c>Z%6d*Q@1
GesrRssuu L Qsm_fdr wsod UTHew SenGarré auflesude arpdlenned Gu(mpLd
Qgrruﬂm wgiLsssSdhhg 14-aigns Siuyb &guutﬁ]mmas STETS.

@ > . | B A
©z D+
(E) ofer Qg,rﬂu_jaﬁld)a)m | |

10 farmers will plough the land in 21 days. In how many days
14 farmers will plough the same land? o

A 14 days
(BM715 days
(C) 16days

(D) 17 days
(E) Answer not knownf

10 efassmlser 21 g,m_essrﬂa) @@ fasms 2 (s qu.&és]mmmr’r erafled =9|CS§5
Poges 14 Aausmser Grgga)asr pn;asaﬂw (DY Q,olq.uurr?

A 14 Erru;;s_n | ‘ ; _ _

® e S

(©) 16 priser

D) 17 proser
(B) e Gsfucloma

s  CCS4T/2022
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130. If 18,a,b,~3 are in Arithmetic progress, then what is the value of

(@ +b)? | |
@ 7 RV (B) 11
o o2

(E) Answer not known |

18, a, b, -3 @aa sl HSAsTLIT auflansude o arengl arafld (@ + b)-uﬁa‘ﬁ wHiys

5176&78;.
@ 7 - S ®u
(C) 15 . o D) 21

E) oL Gpfudivms

131. A person saved money every year, half _a's much as he could in the
previous year. If he had saved totally 7,875 in 6 years then how much
did he save in the first year? | | |

(A) 73,000 B V(B)‘{ 4,000

© v4500 (D) ¥5000
(E) Answer not known | ’

® puil gl %G"‘“@lb SISDG Wheasw cg,em@ Galss. Qgrevaudic
urdeow Gelsfpmit. 6 yarhsaier deur T 7,875-g& Gétﬂ&ﬁpnﬁ_ aaflédr apsad-

<erh Gl |
(A) 3,000 ' (B) 4,000

(© 74,500 - (D) 75,000
(B) e Gsflucloms '

cesaTiz2e 6 o "



132.

There is 60% increase in an amount in 6 years at s1mple interest.

~Then the compound interest of 212,000 after 3 years at the same rate 18

Q) 22,160 R (B) 3,120
_(CW 972 (D) 16,240

: (E) Answer not known

g@@ @,r_f)]ul_cm_l_ 2|F6D g,aﬂmuq. cigsdeé 6 c%amr@asefﬂa) 60% < fsfsdpg. =1Cs
ety oSssded T 12,000-4@ 3 g cmbaefedr HeLsEn Fl () Quily o

&) 72,160 | B 3,120

(© 3972 (D) 26,240

(E) e Qsfusiome

133.

'The population of a v111age increases at the rate of 7% every year. If the
~ present populatlon 1s 90, 000 The populatlon after two years is

(A) 96,300

(B) 1,03,000

- (©) 1,00,000

‘(D)/ 103,041

(E) Answer not knoWn.

@@ Srmwsdenr  wE&CsTMS cg(,em@l_rrcisrgé;@ 7% aigLb &ﬁe;rﬂé;éﬂ,mg

| @u@un@g &sar Ggrens 90,000 aafia 2 ég,amr@a;@a;@'u Y& éw;é]urrwgﬁm

wéser Qgrens

(4) 96,300

(B) 1,03,000
(C) 1,00,000
D) 1,03,041

(E) o Oslueloma

a7  CCS4T/2022
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134. The 86tk Constitutional Amendment Act, 2002 has 1ntroduced the
fundamental duty under 51 A(K) is ’
(A)vTo provide free and compulsory educational opportumtles to all the

children until they attain the age of fourteen. _
- (B) To value the rich heritage of our composite culture - ,
(C) To defend the country and render national service when called
upon to do so [ ‘ :
(D) To protect the natural env1ronment
(E)  Answer not known

86-aug fueeniiy Hmssse b 2002-@aruig 51 A(K) @ apg
SigliueL sl SPPsiLBSsLULHdTeTg ? :

A) 14 awdpse 2lulL @ . @%pg;mga@a@m @wm& DHYID &LLTu
- soell efigge ,

B) umppufu ey sorssTTEms LHSHIL UTFSTSSH |
(C) GCse ungismruQpsrs Ceamauiu@bGung Gg&uumﬂu.m,m,m surmimssd
D) Qupes sHHEGLR®OL UTHISTSSH _ -
(E) e Gsfweldwvena

135. How many pairs are correctly matched?

Party | Symbol
1.  All India Trinamool Congress —  Two Flowers and Grass
2..  Nationalist Congress Party —  Clock :
3. Telangana Rashtra Samiti —  Car o
4. Asom Gana Parishad — Lock and Key
(A) 1.pair ) L (B) 2 pairs
(CV™38 pairs ‘ | D) 4 pairs

(E) Answer not known
aﬁl(.pa;asasm_a_v,mgjm GI'§§66)66T @mmrasa‘r sflwrad QLJIT@§§LILJL.®6!TG1T@T?

sl : Slemaid
1. sifeo @pdHu ﬁnﬂaﬂm@oc’u e;rfrﬁ:é;]nefu = Q@ Usser bHDID LbseT
2. | Gaélweung sriiflyev &4 L~ &gamy
3. Qg,gun'swsrrmn greip M F04) —  &mr
4.  eomb sewr urﬂaq,g, - - L@ mmgjm el
A 1 @mem | ' (B) 2 Qeoansdr
(C) 3 Qoeawsdr o D) 4 @weavser -

(E) eferr Qsflueicrenew

CCS4T/2022 S - o



136. Whlch among the followmg islare correct about the J udlclary in Indla‘?
(i) India has borrowed the concept of J udicial Review from the USA.

- (ii) Both the federal ‘and State laws can be subjected to Judicial Rev1ew .
. by the Supreme Court. |

@) The Constltutlon Article 13B saves the Acts from Judicial Rev1ew

(AV6 and (ii) only
(B) () and (iii) only
(C) (i) and (iii) only
D) @), (1) and (ii1)
(E) Answer not known _ ,
@pHwimeiier ﬁﬁuuamyrru_lm upBlw &ggasrrmrummgjdr Grg;/cmneu sflwnarenau ?
@O @pdwur f,gﬁuuasrurru_xcq ey EMHSSI(HAEU &anﬂ&aneﬁ)aﬂ@pg Quppg! |
(1) el HgId orfle  slLksd  @rempn 265 f,,ﬁmmmgﬁm |
gﬁuumqnmm&;@Luﬁaw E ‘ :
(iil) rueeniy s LGfley 13B ﬁﬁl“s@mm LY D16 Q&u_lsumg 5@5&1;051

A) () wpgid. (11) b ' o
(B) () wpgud ({ii) wE

(C)_ (i) wogb (111) wED

@) @), (i) wpgd (i) -

(E) ofer. QsRwedvena

- 137, Whlch one of the following Artlcles empower the Supreme Court and
H1gh Courts to issue writs?

'(A) Article 23 and Article 226 - (B) Article 32 and Article 228

(C) Article 226 and Article 36 D ticle 32 and Article 226

(E) Answer not known L o . |
Gemeu(pd  FLLL Qfeysefler  eTBE& m_l_ulfﬂrﬂm é.uﬁ‘lgﬁwwmﬁﬁﬁ)@jﬁl
Gurreamsaer MpLés SFETyLD a{aﬂa;és)mmgj? | o
(A) &L_L_lefﬂlﬂ@_.] 23 wpmib 226 (B) sl n9fey 32 wHguD 228

(C) srLciGfay 226 wppid 36 (D) sircndfey 32 wppid 226

(E) e Qgflusidama | o '

T | 49 . CCS4T/2022
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.' 138. ‘Under the duties of the father what is the duty of the father to h1s
son — as found in the Kural. ‘ '
“Thanthai magarkaatrum nandri” —?

(ANATaiyil Munthi irukka Seyal
(B) Selvath11 Munthirukka Seyal
- (© Kudlperumalyll Munthiyirukka Seyal
(D) = Nermaiyil Munthi 1rukka Seyal
(E) Answer not known
‘srs LDGSL'D&”ELDJ_' pel”
M@Jw Aosepaiien Le s wa@IsEE Qwuw pentl ergi?

A) aimmu_‘ﬂa) wpPimass Qewigd

(B) QedreusHed WwiHuimsss Qaign

© EuiOLEELwEs wpH¥Gss: Qe
" (D) Cpirenwuie appHulmsss Qsiisd

(E) oflenc QsAuafdaa

 139. The ﬁrst surveyor of the Archaeological Survey of India (AST) _Was |
| (A) Charles Mason | (B) Alexander Burnes
| (C)\(ﬁexander Cunningham (D)‘ Sir John Marshal
(E) Answer not known - .
rfug Agrodlue giias gopler psd e
: (A) sy Gueer - | (B) <@Qessramir Lieren |
- (© anéssnafm_fr a;draﬂrm;;{pm. V(D), sft Q6 Lomragd :
(E) oL Asfucdome o

CCS4T/2022 o - &0 | ST}



140. Extra copy of chromosbme- 21 results in

A) ~ Sickle cell anaemia

~(C) Kline Felter-syndrome E

(E) Answer not known

@querrrG&rrw 21-@é @ ys.scb m@gwn& @@utﬂ]m agmrra) qmu@mgj :
@)

O soeaQuoLi A Gymb

. oiflaurer @rss Csnans

(E) aﬁlml_ QsfMweildene

(BDown syndrome
(D) Thalassemia

B) Leyen eﬂam_Gurru) . ~

D) §a>5uSTqur

14.1; Which of the followmg is correctly palred" ‘
- (1) Pattadakkal - Chalukyas of Vatapl
(2) Elephanta Ca\?es —~  Ashoka
| 3) Ellora Caves - " -Ré.shtrakutés B
(4) Mamallapuram - "-Narasimha Varma I
(A)\/{3 4arecorrect -  (B) 2, 3,4 are‘correc"t |
| (C) 4, 3, 2 are cor_rect | | (D) 4, i, 2 are corfect
- (E) Answer not known
sl Qaeamas G,srrm Qsws. 7 .
1) U|_|_|_a;asd> . = aungml FnEpsAwi
(2) adQAuam_T GMESET —  sGsnst
- (3) er@Gamym @m&ase‘n - Urra‘qnq.ué;a.m_r'rsdr
(4) wrodoymd _ @,marrm Bréibeuiioen
A 1, 3,,4 sRwneng - | B) 2,3, 4 sfluneng
(C) 4,3, 2&ﬁldmmgl (D) - 4,1, 2 5rﬂu.|rrsﬁg|
(E) oo Ggslﬂu.‘leﬁléimaf | : |
" o R I |  cCs4Tiz02
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142. “India will be a land of many falths equally honoured and respected but
- of one national outlook” — Who said this?

(A) Mahatma Gandhi ¢ (B)Vf waharlal Nehru
(C) Dr.B.R. Ambedkar -+ (D) Sir Syed-Ahmed Khan
(E) Answer not known | i
“‘@iflur - LoGeugy ‘mwlﬁlasmasasmm& FLOLOMS Gunm;ﬂ Log]a;asuu@u) @Lwrs.
B®uuGst® ¢Cr Cadlws 5asersmrrL_L_§,mg,5 Qa;rrasmq_@a;@m TS alweut
(A)  warswr sTHS o - (B) gaanierd G
(C) Dr.BR. <Cugsi (D) & ewswigl siswgETET
(E) e Asfusidaw - S

143. Which of the following statements are correct?. ,

- () Rajasthan plains is located to the west of Aravalli range
| (ii) Punjab-Haryana plains lies to the North-East of the Great Indlan‘
- Desert .
(1ii)) Ganga plains extends from the Yamuna R1ver in the west to
Mizoram in the east
. - (iv)- Brahmaputra plains is located mainly in the state of Meghalaya

(A) (), (iii) and (iv) only (B)\(/l) and (ii) only
| (C) (i) and (111) only : (D) (i) and (iv) only

(E) Answer not known

- SpéserTeupmieT eTaneu ‘&rﬂu.Jrerrr QUTSALBIEGET? | v
() @rrgevsrer sw@aef 2 Teuell aDSOST([HEE Cupdéd siewpgierarg.
() ugpsru-apAwrer *GLD@QJGTHGBG?T' pdu urrmét)ajarggﬂérr L SlpsCs

SIenLopgleTeTer.
(1i1) smess swQeuef @Lomé;]a) u.x@omm c%ﬂ),rﬂaﬂ@‘mgj é;]lc.paseﬁa) L&@&myw ey
: upellydreng. '
(iv) Grbwysdyr sweuei@er QusibLEs @ma;rrsuu.u-rmﬁ]m é{mw‘r_r,gmmg.
(A) (), (i) wpgd (iv) wrEw (B) (@) wpmid (ii) v Gi>.

(C) (i) wpgud (1) wLEL (D) (ii)_LDﬁ)Qij(iV)LDL’.@Lb
(E) e Qgrﬂu_mﬁ]a)mm ‘ :

'CCS4T/2022 o 52 o u



 144. Pick out the correct statements :

Statem_enti :  The delta of the Ganga Brahinaputra has the laxfgest
| ' tidal forest. | |
Statemen’t 2 : Tidal forest are also known as mangrdve forest.

(A)Vg)::h As_taterhents.are; frue
(B) Both stateménts- ai'e false
‘ (C) Stétement_l 1s true 2 .is:-fa“lse T
(D) State‘ment 1 is false 2 is true

(E) Answer not known

sfwuner rsdugoss G§ﬁ5@§®&$a4m s
aunsfub 1 : 5mmsztﬁ]uqu§ﬁqﬁ QredLr u(gﬁasaﬂc‘o WaeuQuiln  sgty
o ;E]wésasrr@asdf_ammm. " | |
arsdub 2:  s@oursds é;rr@a;eh | “ibr’rr_fu@@n}rre’u”‘ STOEET - Gra'ﬁgu
| S&slILbEenpe. |
(A) @uaﬁrr@: aunswbis@Esd A
(B) @uaw® eursfwbisEbn Saup) -
(C) amsdwn 1 af; 2 g,emg‘uv | o
D) arsdun 1 saum; 2 &
(E) o Gpfudoms
K | - 83 | . CCS4Ti2022
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145. Match the awards with recognition :
o Award 1 ¢ lRecognitipn
(a) Perumthalaivar 1. Increase ehrolm'eht in school
- Kamarajar award o
(b) Puthumai Palli Award 2. Award for top performers
- (© Kanavu Asiriyar Award 3. Improve socio economically
. - marginalised student
(d) Radhakrishnan Award 4. Service of the best teacher

@ ® © @
A 4 3 1
V2 3 1
©O 1 2 4
3 4 2
(E) Answer not known -

= W AN

| Gﬁ]@gjadr wHgd SkEsTrsms QUIBSSS :

dipgiser | : DBIESTILD
(@) Qu@pseeart srogrer dims 1. udals Coramsamn <Psfgsd
() uygieowt veredl Amy 0 2. fpps Qewdum yparer eflmg)

() sarey AMwLT Amg 3. swa, Qurgertgmy fHwuns Gengridw
' ' ’ . orewaiis@mar Cmtbu@ﬁggd)

(d) grsr Ameyearen (g 4. gAful uellle Appg eriiEsd

@ ® © @

@a 4 3 1 2
® 2 3 1 4
© 1 2 4 3
M 3 4 2 1

() e sfudoms
ccsaTizo22 . .54
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| '146. Match the Geographical Indiation Tag (GI tag) .’pxoﬁdu,c_t with its place

Product | Place
(@) Turmeric | 1. ~Madurai
(b) ‘Mat 2. Erode
(é) Pain_tirig 3. Pattamadai |
(@ Sungudi 4. Thanjavur

@ b © (d)
@A) 1 2 3
®¥ 3 4
C©1 3 2
™2 1 4

‘ (E) Answer not known

W =

yedent GHSE (GI tag) GIUIT@l_‘_a;és)aT :9@6%1 @l_ggzu_'a'rlr -Qun@@gja;

- Qummer @@L

(a) wegsdr 1. wger

®) umd 2. wC®

" (c) ‘mafo'rmrulebém (@aﬁ]u_ﬂb) 3. 'uggmam_

@ shen 4. pesnayt '
@ ® © @

a1 2 3 4

B) 2 3 4 1

©1 3 2 4

™2 1 4 3

‘(E) “efler QgsAwedlvener -

. s © cesdTizez:
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147. 1s the thought in terms of social, ‘e’ducatihonal and

Vpsychologlcal well belng among various commumtles
(A) Communal harmqny ,

(B . -afidhal integration

(C) ' _Womenﬁ empowerment

D) 'Communi‘ty health '

(E) Answer not known

ueGeumy &@gnum&@&aﬁ]m;@uwnm Fops, soell wHMID 2 erellwied ;_561) QUTLDGY

' ng__rrurran Apgeen ————— ereru@id.
(A) ‘é@gn@‘ BeSlarrdaid
(B Csfu grrdmaniy
(©) Quamser ‘@ésr(:mpmm | | 7
D) s@g,rru_u peﬁm'

(E) o QsAueldene

- CCS4T/2022 | | 56 | o o



(A)
B
©)
D)

(E) |
- Ggélu eam 4 BTG ———— D GLD.

%Y
)

149,

©

D)

(E)

148. National Panchayat Raj Day is dbsér_ved on

24th December

24th August

V%4t April

924th September

Answer not known

Lq_&L'DLJf"T24
SpEevl 24
LI 24 
Qe buir 24

eflenL Asflwaidame

True r1ghteous/v1rtuous hfe con51sts in the av01dance of four thlngs
what are they? '

(A)\/Jealousy, Ambitiousness, Anger Unwanted Abusive Words |

B)

- (©)
D)

()

Aram, Porul, Inbam, Veedu
Enjoy, Sound, Laugh, Peace
Lust, Anger, Doubt and Action

Answer not known

‘;@@é;asrr QueTngl SIPb” — eTaneu ?

(A)

®
" ©

D)
(E)

g@é;a;ngj, sieur, Qeaugell, @erenmmébsme
SipLb, Qurper, @eTuib, @9@1 »

wp&s, e5500SD, ﬁﬂ§§®, g’
‘&b, Qeugef, wwssD, efear

er Qgflwelerene

57
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' 150. Choose the correct Pairs : R

1. Ondiveeran _  Maruthu Brothers
2. Gopala Nayakar '—  Dindigul League
3. Kuyii - Pulithevar -

4. Muthu Vaduga Nathar —  Kalaiyaarkovil Battle

(A) 1and 3 are correct - - (B) 1 and 2 are correct
(C) 2 and 3 are correct (D)¥2 and 4 are correct
(E) Answer not known |

silwner @mcmasmmg Cﬁgr'req Qalis.

1. gemgalyer —  @mE sCaNgyiIET -

2. Gsrure prusst  —  Han@ssd B;SLI'_.I_GB)LDIL-II_]
3 @d8 - udsGoart

4. iguspTST - smevemwmit CSa;rra&]ebGurrr‘r

A 1 m,lj)gji 3efl | (B 1uwpgn 2 &rﬁ

©) 2 wppd 3 &l ‘ - (D) 2 wpgw 4 &M

(E) | eflenL Qgrﬂwéﬁ]c’um@

151. How does Valluvar compare the wealth of a wise man?
(Ayfank brimming with water (B) Ocean
(C) River (D) Lake
(E) Answer not known |

@@@J@lmuu Q&a)mu) &@gnugﬁm@u uu.:arru@mmgs QUET(EREUIT ag@a‘rrr@

@UAEADTT?
(A) eﬂr@mﬂ S | - (B) HL6)
©) < L D) af

(E) fer Qsfweideme

< oY

§CS4T/2022 s O



152.

- is not a part of the Tamilnadu’s First Multi-Modal Logistics
Park. . o
(A) Chennai Port Authority

- (B Tamilnadu Industrial De\}elopmenig Corporation

©) Natibnal Highways Logisticsi Management Limited -

L (D%ennai Metropolitan Developmental Authority

153

(E) Answer not known

SIOPHETL g6 (pgmeug LOpMaTLID FFH@GLU Curs@aigsgiL grﬁlarraﬂé)
ewitlpEs Asriy Qome. | |

(A) G&dsrmmg FOPWPES HPSID |

“B)  sOPppTH Opmd eueriés ;ﬂgumamo

(C) Cpageand engmGasev a)rrglamq.a;do (SLoGasrgQLoam_ aSlLSIGLL_

‘D) Qeenaar QuUBBET auaTiEls @D

(E) e Osfuddame

-

The Wmner of “J nanplth award” for the year 2021 was
(A)Vﬂxmodar Mauzo » B) Krishna Sobt1 |
© Amitav Ghosh S _(D) Nilmani Phookan

(E) Answer not known |

2021<gbm Sy, 68T15 HETET “@rramﬁl_ Qil@mg” Gwarmmrr u.|rrrr" |
(A) §rrG|.orr§rr QuerGer | (B) Amegertr Camiid
(©) <fge Camay o D) fowel ysser

| (E) e Qs Nwelldena

59 : . . CCS4T/2022
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154. The three articles which wéré amended by the Parliément of India to -

restéré State’s pbWer tohiake their own OBC lists are
(A) 334, 342A and 366
B v33’8}B, 341 and 363
(COV338B, 342A and 366 |
(D) 333, 3‘41Av, and »362_
(E) Ans.wer not known

@g,lq IS]EULL @J@Dlﬁ]mr‘r ul'_lq.u_lmo.)' wnﬁd@a@m g;quﬂs@m cgqg]asmjgmg
»LBI_I_I‘Q)'Q')&SITJS @bsw ‘r_r,rn_rr@mm,mgﬁm Qasrramr@ QuUILIL L FUL Q@ggm ﬁgsahﬂ_‘
EPeTI SITE@IOLILS o QB@ETS ﬁ@@ﬁwgﬂ |

(A) ,-334’ 342A vpgib 366
(B) 338B, »541‘ oD 363
(C) 338B, 342A mﬁ@tb 366 |
) 333, »:‘341A‘ opgId 362

(E) . QS]GO)‘I_ngﬂu“JQﬂG'DGOGU A

CCS4T/2022 - - 6 A



155. Whlch of the following statements are true?

(1) CDRI - Central Drug Research Institute has developed an
indigenous RT — PCR dlagnostlc kit “Om” for testing the Omicron
Varlant of Corona Virus. ' : :

(i Om is the first kit made by any government 1nst1tut10n for spec1ﬁc
- testing of Omicron.

(ii1) Om ;s the third to be made indigenouely for specific testing of
©Omicron (Corona Virus)...
 (A) () and (i) only
" (B) (ii) and (iii) only
©) @ and (i1i) only
~ W0, Gi) and (iii)

* (E). Answer not known

' £Epa;asrr@|m @Jrrasaﬂu_srmasaﬂa) Gra)QJQu_la)a)rrLD eﬂﬂ?

(1) wsHu wEHBS %Unu&eﬂ Hgieuard CDRI Qasrerrmrr mmqaﬂlm @L&asunm |

wrpuT oL Crdés o arpm_ig CoCu Om” ST SiTig.- lﬁlé]a;{,rr a;mn.;ﬁum
&(mal 2 (Haunbélu|eTeng|. _

(i) equWisrrefer @@ULS]LL. G&rrg,marra;@ THS @@ <ire  Hyeuerssnd
2 (FAUMESILLL. PSS e;([r;aﬂ “Om” |

3
.(111) 2 erprL iy CaoGuw g,u_:rrlﬂasasuuL_L_ @,pmmrrwg,j Qa;rr(Smramr meuryem G&rrgmarr' '

a;@sﬁl “Om”

A) @ wppid (1) wLGD
®) (i) oppid (i) wr G
O @ LD'IDQ_ILD (i) v
D) @, (11) womd (111) SDETHID
(E) oferr Qsflweldee

m - B  CCS4T/2022
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156 ‘Three nvers in Peninsular Ind1a that runs from east to west are
'(A) Mahanadi, Godavari and Krishna
- (B) Krishna, Narmada and Tapti
* (OWNarmada, Tapti and Mahi
(D) Mahi, Mahanadi and Godavari
| (E)V Answer not known |
. ﬁua;,u)u Qifu gpsaier Hpsde Qmbs Cuwhe G;brras@u UMW ePETD MISET
(A) wanrpd, Casngreuf opPILd é]@aq.emrr | |
- (B). fieyern, piweng whHpid suf
(O prows, suf wHgD wWraH
D) wnef, wampd wLHPD Cangraif
- (BE) QSI]GU)L_.,leﬂUJ’QS]d)GB)Q) .

157. Identlfy the correct pairing.
N A Nucleos1de Nitrogen base + phosphate'
B Pynmldmes — Cytosine and sugar -
‘ (C)\/ﬁnnes Adenine and Guanine |
D) Nucleotide — Nucleos1de + sugar |
(E) Answer not known =
N sflwmer @mcmmu.sa asairr@@q.
Q) PuseiCures® - @By &ML + GmaGur.
N (B) QRS erseT — s GLréle wHpb qfr&smq "
- (O) Oyferser — sigeardt whgd @@rfmmdt |
D) PysaACureL @ - ;ﬂgésaﬂ@u.mm&@ + efrésa;mu
(B a‘i]am. Qgtﬂmc&\d)a)w -

CCS4T12022 - ez



158. The g
(AW Shale gas ~© (B) Gobar gas
(C) Water gas D) Oxygen gas

- 1569.

- Sl pu@unmeT  deau® A5G -
- (a) geosapred _ 1.. -COOH
() ogewd 2. -OH.
(o) ‘£LGLFT66T o -3 -CHO
(d) asrrrrurra;a&aﬂa; équﬂa)m - 4 B (|)|
| -C-

(E)  Answer not known

present in the poreé of soft finely stratified sedimentary rock is

QOGTENOWITET GUERTLG) LITEnD cw@as@a;aﬂm gjmmasmﬂa) 2 éer mnuaﬂm Quwifr

eTeen? ,
: (A) CSQp,:Q) QJFI’U_| | B) Garuf QU
(C) B eumy . - (D) y&figen aumyy

E) aﬂam_ QsfMweldena

Match the class of compound with it functlonal group

~ Compound | Functional group
~(a) - Alcohol 1. -COOH
(b)- Aldehyde 2. -OH
(c) Ketone 3. -CHO
(d) Carboxylic acid PR

| o _C-
@ ® @@ @ "

A 2 1 3 4

@ 2 3 1 4.

©C) 3 2 4 1

OVe 3 4 1

(E) ‘Answer not known .

- &LHU Aunmener Sigen @Slan@sru@ an@ﬁu_u_m @mmr

@ 2° 1 3 L

© 3 2 4

4
" ® 2 38 1 4

1

1

D 2 3 4

(E) e Qg,rﬂu_laﬁlebm_co
63

ccccc
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160. In Automobile service stations, the vehicles are lifted Upwardusing'thé
Hydraulic Lift, which works based on »

(A Newton’s First law
| (B) Newton’s Second law
(CWPascal’s law |
(D) All the above
" (E) Answer not known

aursamIsdT LWg umisgb uafloamasale aunsamsmer o wiss abhs aﬁ]ﬁluﬁ]m
it wWld Qukigd Sllue a_lurrg,ﬁa;m HweLbhssuuG e ?

(A) Butrafr gpo A
(B) P afler @rammb &fF
(€) umevad 694 | |
(D) Cupaem ammggm).

- {E) &feni leﬂusﬁlsbmm

161. Which of the following Equation for force is incor_réct?

(A F=mxa
(B)v/F=Ath
© r-r-u
t
o

D) F= ~
(E) Answer not known

Ep&aETepd FLATLTHSERET a5l cllensssmar FLOGTLIMTIG DEn) ?

t
(E) &l Qsflweildensd

A) F=mxa
B) F=Ath_~
© F-mbzu)
@ F=42

CCS4T/2022 . . 64 o o



162 Match the adulterants of the food

(a) Hydrogen peroxide
~ (b) Food colours
A .(c) Calcium Carbide
(d) Carnauba Wax

@ ® ©© @

@A 1 3 4 2

'(Ba/ 3 4 1
© 3 4 1 2
D 4 1

(E) Answer not known

2 3

1.

2
3.
A

Shiny appéaranée
‘Milk
Fresh look

Ripen Bananas

' é@gﬁs&d&n.. souULSmg 2 amGaurp @mm stu‘Jas.

(a) eapLymer Guyrsmav®
(b) eawma; fipepligsar
(0 ST@Awid sireu(

(d) sriGarmur GLWE

1.

R

@ ® © @

@& 1 3 4 2
® 2 3 4. 1
© 3 4 1 2
® 4 1 2 3

- (B) e Gsflueldame

udmmt.tprrarr GamhoLd

umed

| ua'ra»mg, Ggrrg)mw :

mrrmguu%pg,mgu L(p&s m&gﬁ)@

-~
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168 Match the foilbwing:
,. (a) Sivasubramanianar = 1. Kayathar Fort
(b) Kattab(.)'mman' 2. Sangagiri Fort
(¢) Marudhu Brothers 3. Nagalapuram |
4

(d) Dheeran Chinnamalai Thirupathur Fort

@ ® © @

'(A)‘3/_ 1 4 2
. ®3 4 1 2
©) 3 1 2. 4
@4 1 3 2

(E)- Answer not known

QUTBSSEIS : |
(8) Aasvgwerliwenmi swssTn CamenL
(b) asL;Qumbwdsr srsdM GamienL

() wmg sCangyiamer BISTL{JLD

W o

(d) Syen Aerarwee Hmrinsgnt CameL

@ ® © @@
W3 1 4 2
‘® 3 4 1 9
© 3 1 2 4
4 1 3 2
® de Gpfudiome
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164. Identlfy the wrong statement from the following.

165.

(A)
B)

Shivaji’s Guardian was Dadaji Kondadev
The coronation of Sh1va]1 was celebrated w1th great splendour at
Rajgosh ’

_(C)Vﬁrnva]l s soldiers plundered Surat in 1665

E)

(B)

- (©
D)

(E)

(D) In 1674, Shivaji crowned himself by assumlng the t1t1e of

“Chatrapati”
Answer not known

. Bpéaem_euppeT g,wmrrm gahennsé asmn__,u‘)]as

A

Aargduien LTgisTaIRT STSME Qamer_Ggeu

SHaungd grpCarey CamiamLuled PG iys G\aﬁrremurrr
Seurguler L lfiser Gréms 16656 @as)g)u_qu_mrrrr |
1674-@é spyud ergud Guwfed Qplq.@lq.asrrrrr |
aflen Qgrﬂuoﬂmmm

Choose the correct statements :

1.

2.
3.

4

JCVE
- (©)

(E)

Bharathi edited a Tamil weekly ‘India’. Wh1ch became the v01ce of

the moderates
Bharathi partlclpated the Surat sess1on of congress 1n 1907

Chakravartini, Swadesamltran Newspapers was edlted by
Bharathi :
G. Subramaniya Iyer Pubhshed newspaper The Hlndu _

1 and 2 only correct o (B) 1, 2 and 3 only correct
2 and 3 only correct. (D%S and 4 only correct

Answer not known

Fflwuren snhm&bsmens asmng‘)'la;

urgdulen ‘@pHwr’ ey QP L&gmrrg Gsflweurdsafien @o‘corra;g, ﬁa;gpggj

- 1907-@& @16 srmslye LDIT(IBrl'l_lq.GD uiryd sQpGCsTERTLTH, |
sajaursdef, sGgeflgye Gunenp ug@ﬁ]m&&oﬂw um;ﬁ umﬂu_lrr,mﬁ]armr .
- 8 @bg usdismsmw Qmoﬂuﬁh_t_mrr G. a'rumoawﬂu_l guiit.

1 opgud 2 wiGibd & . (B) 1,2 Lomgjm 3 LDI_®LD sfl
2 wpmd 3 b M (D) 2, 3 wpmb 4 wi B &
aflen QzMweiicrvancy ' -

67 . CCS4T/2022
- ' "[Turn over



166. Choose the correct statement: | .
(1) The Palayakkarars system was in practice in the Kakatiya Kingdom.

(i1)) Puli Thevar recaptured Nerkattumseval In 1764 after the death of
Khan Sahib. , . _

(111) Yusuf ‘Khan was negotiating with ‘the Palayakkarars without
informing the company administration was charged w1th treachery
and hanged in 1764. :

' (1V) Ond1veeran led one of the army units of Kattabomman.

(A) (), (i) and (iv) are correct
( (B)\(i), (ii) and (iii) are correct
(C) (i) and (iv) are correct
D) (i)‘and (v) are correct = | _ | .

(E) Answer not known

sRlwner smpans Cairey Qeliweyib. v
(@)  ureerwésTyT e sréagHu Guyfler ‘Lr)as)'l_@pa)muﬁlci)v @@ﬁgsgj

. (1) arer sndiuder @mulﬁlm@uﬁlm lc_baﬂg,@gmrr QphsL Hib Ceeuama 1764- -@e
- Bear{ibd m&uumgﬂmnn |

(iii) sbQuef ﬁlnwn&gﬁm@‘g, SHaUD <iefsamod - urrmmmasa;rruna;@m
- Cuéssamigeanguie FHULLSTSD W slisTest gj@gmﬂ Grarrgu GHOL &DSSLILLH

1764@e grr&eﬂaﬂl_uul_l_rrrr

- (v) gargeirer & Qumbwoefer umnuﬂnﬂma;aﬂe‘v RTODS gmmmmcumgj.
aufipL_gdlenmi.. . v

@ O, @) opp (v) ghume o
B) (1), (i) wppd (iii) eydueme s
(C) (iii) wpmvd (v) ey dueme sf
@) () wppid> (iv) e s

B) oL Opfudoos

CCS4T/2022 A 6 - o



167. Read the following passage and answer the item that follow. Your
answer to this item should be based on the passage only. _—
Passage
The creatlon of the Swadeshi Steam Nav1gat10n Company marked a
spectacular development in the history of the freedom movement. Eager
to revive the naval tradition of the Tamils to provide practical training
in ship building to the people and determined to challenge the British
Monopoly of maritime traffic, V.0. Chidambaram announced his decision -
in 1906 at Shiyali to create a Navigation Company.
Which one of the following is best implied in the passage?
(A) - The steam Navigation Company earned a good 1ncome in those
- days which marked an impressive development. :
(B)  The creation of Swadeshi Steam Nav1gat10n Company stopped the :
A British Monopoly of Maritime Trade. . "’
(C) V.O. Chidambaram was dependent on taking any decision with -
4 regard to Navigation Company affairs. :
D he restoration of Tamils- Knowledge in the Naval trad1t10n was
" the objective of the creatlon of Nav1gat10n Company.
(E) Answer not known

ﬂarreu@m ugﬁmu_xu Uiy S 1Gereu(md cSerrailps uﬁmaﬂasassum @;_55 u@g‘,]&&;rf@f
2 _MBIGET uﬁm Lg$lullebr StiglineLudé wi (6w B (m&s Gmmr@m
_ uss
&C58 evieid Gpaﬁ](?wsaq:arr ;ﬂgueumgﬁm a@mrra;a;m &opHT @usssSer augorHdled
@@ ADLSLTET aueTi&FSenwid @ﬁ)’lggg 5 Blipirsefler sl a;|_®Lo urgbuflugens
BLALBH&ED <Y TeusHd EEEEEGHE SLILID sl (heufled Bl penpL LulHé).
Sseflssab. sLO Gum@mwﬁm QAL ey FeCurssdhE seurd af(Peudled
2 pHunsab al.e.. Sgburd 1906@e afwrelluder e CrailGaagen .ﬁg)]margsmg
2 (HhUNEGSaUSHETET SaTF (Plgea siPelggnt.
‘Wereumeuaraup e erg ugHuler Apliunes @Jﬂulﬁh_uu@\ﬁmgl?
(A) dved CreliGsager Hpeuand Sibs B sefld BO® m@wnmgmg Ll L)
_ B @ &SI euaTiESlamwus @@5,551
(B) &Gs8 evied CreiiGoager sbQueflufen 2 (meurssid HL& mmﬂa;g,ﬁsu Lc!][ﬂl_l.q.aq:
qa;(ﬂurrasgmg BpsHwug:.
(C) oo Aswumbd CpeilGaagen Hpieuen eausmyriiger Qgrn_rrurra TS Q,onq.msuu_;w
: THLUSD WwHpeuTEmaTE &rmpﬁ@g,grrrr
- (D) suue s umbuilugdd shlpreeter a@mw LBL.@L@LJL@ G;aaﬁ](%a;mmr |
' Poeueansams 2 (peursdwge Gpn&&mn@m
(E) eoflen Qg,ﬁluaﬁlmmm

M | 69 L CCS4T/2022
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168. Match the correct claés_.ification of land during the Gupta pe'riod;

(a)‘ Kshetra @~ 1. Waste land
() Khila 2. Cultivableland
(c) Aprakata - 8. Habitable'l}and‘ '
(d Vasti 4 Jungleland

@ ® © @
@1 2 | 3 -
®4 2 1.
v 1 4
M3 4 1

(E) Answer not known

[\ B S R JC RN

@ugsr'r. a;rro.);sﬁdsr ;F)]a)réje;aim Spssam_auppiar sfluns QurmSSHHs.

(a) (35;5'7"‘ | 1. sfl& Hawb
“(b) fer | | 2. @mmnafvrmmés@ 2 865 Hlaw
(©) wwssT 3. &nGLLsHE 2-5b5 Han |
d avd 4. aar fed

@ O © @

A1 2 3 4
®4 2 1 3
©z 1 4 3
™3 4 1 2

(E) o Qsfluialdena

CCs4T/2022 -~ . 10



- 169. Which of the following statemeht'is/are correct about thé NITI Ayog? :

I. All Chief Ministers of States except Umon Terr1tor1es w1th
| leglslature are part of Governing Councﬂ '

o II. The Prime Mlmster of Indla is the Chalrperson of the NITI Ayog

VIII. Finance Mlmster ,of India acts as Vlce Chalrman

@ Ohly. II and III
(B)%nly i}
(© OnlyI
(D) OnlyIandII
| (E). ‘Answer not known
&@m@m sappisefier ‘B aCurk upBu c};sgés Sapm 'mﬁmrrangj ?

I ;és'mmggj wrhle ,(l,ogd)mr'ras@l.b,’ &I;Lmsbr,mtb. Qaraim waflwer vLS]IJ’Gg&ﬁHSGiT
gaﬁlu'%@m @@Gﬁlsb Sh&ED udsHenperi.

I @ drpiot BB iCurshar somet ot
L @sdiu fPumsst geen sooas Q&u.la)u@éﬁﬂ)rrrr
A II mmlm III e @b
B Mocpn
© Locgo
) TeppsMocen
E) do Opfucdomn

m R B O © CCS4T/2022
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170. Assertion (A): RBI controls the supply of money_in thé Economy.

Reason (R) : It wants to stabilize exchange rate and control
inflation.
(A (A)is false, (R) is true
(B) (A)is true but (R) is false
(C) (A) is true, but (R) is not the correct explanation of (A) * ’

(D)Vgoth (A) and (R) are true, (R) is the correct explanation of (A)

(E) Answer not knoWn

aapm (A) : Qpdwu ferey i priger QuTEETTST) LiewT smégrm;ms_vé;
| sLHUUGSBEDS. | ' |
amyemd (R) : QpPlu Qeareuaf LfNeuissaar aﬁ]éﬂgé,mg HerriL@gseyib,

- @A)

®)

©)

@)

(E)

vaneisssdaans sl QLUUBSsaD elBLLEDS.

A) sag; ®) sf

() oft; e R) saup

(A) &fl; game (R) erarug (A)elparer sflwner elerésode

\

(A) wpmw (R) @ran®w &f, (R) ererug (A)elparern sfwrer efleréamLomE D

aflen Ggflweiidans

CCSAT/2022 | | 72 o | m



171. Assertion (A) : Micro irrigation te_chnology helps to have a higher yield |

~~ when compared to the traditional irrigation method.

‘Reason R): = Micro irriga’ti'on required - moderate water supply at p

4)
B

regular intervals, reduction of labour expenses, increase

| - the usage of fertilizer and the yield.

(A) is true but (R) is falsé |

(A) is false but (R) is true |

© V{oth (A) and (R) are true but (R) 1S the correct explanatlon of (A)

)

Both (A) and (R) are true but (R) 1s not the correct explanatlon

of (A)

(E) AnsWer_not known

e spm (A):  p@mert urser Qsmopiuib, uuerburﬂuJ Birurgen Q,om,r_i)a;mcrr‘

e uulirsefled éqﬁa; Loas@co o585 m@mme; Qedmsg).

smyenrd (R) gjmrm“r’rr LIT&eT ‘é,]L_L_g,Qw siereuren Bif §Urnso‘r &H1Q @mu@woﬂuﬁlw_ '

| (A,) | (A) & écbmrra) (R) saum

®

©
)

(E)

: unu&&uu@eﬂmg} veaflun seflar = Gewmes Gopsg, -2-70
uu.uscrurn..@gﬁgjm a@&ﬁluu@g,n@ aﬁ]mmggmsuu_;m cg@asrﬂaseﬂgpgj

(A) seug; é'___b&TITGD (R) &nﬂ .

(A) wppid (R) gfl; oy erred (R) TG (A)a;@ &rﬂu_masr oﬁlme;a;u) (&L

(A) Lorj)gJLb (R) gf; e;i,mrra) R) Grmugj (A sfuimen aflardsid céqe\)c_;\)

Sen_ Qsfueddame

73, . . CCS4T/2022
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| 172. H(_jw many tfiarigles are there in the f(.)llowing figure :

[

@z (B);,u [
C) 14 - . - (DyM15
(E) Answer not known .

SpsarL aeruLsdd assoman psCanamtisdr e dratar?

A 12 - (B 13
© v D 15
(E) e leﬂmaﬁlmmm

173. Whlch number is in oppos1te plane of 3?

@11 (Bi/'
©s

(E) Anéwer not known
3-4@ aflgrar garsHd o drer eTaRT 6T 2

A 1
© 6 _
- (E) QS]QDI_ G]g,fﬂu_laﬁlsvmev

CCS4TI2022 B SR 7O



174. Find'the' missing number :

49, 121, 169, ?, 361 | |
‘@ 225 (B) 256
(C)\/89 . (D) 324
E) Answer not known o
@S]@ul_i_ TR asam@n_‘ﬂq

49,121, 169, ?, 361 I
@) 225 (B 256
© 289 - (D) 324
'(E) ferL Ggarﬂuaﬁlwma) D

“175. F1nd the area of a rectangle one of whose s1des 18 5 cm and
- diagonal 138 cm.

(A) 74 cm?

(B) 96 cm?
- (VB0 cm?
(D) 56 cm? |
_(E) Answer not known |

0] G&mmasg,ﬁm @@ uGsD 5 Q& 8. u),mg]m é{gm @mwaﬁlu_m 13 G& LE Grasﬂa)

Q&mmag,ﬁm Lyl STENs.
) 74Q@s82
(B) 96 Qs.5.2
(C) 60 Q5.8
D) 56Qs.5° |
- (B) L Ggfﬂu_laﬁla)ma)

o | o T | . CcCS4aTiZozz
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176 A Worker was engaged for a certain number of days. But he remalned
_absent for some days and was paid Rs. 1,387 Had he worked all the
days, he would have earned Rs 1,752. How many days did he Work for?

@vs - ®a
() 24 - D 29
- (E) Answer not known o

¢

R @ @;ﬂulﬁ]LL Gmmma;asms umﬂu_lwrrg,g,uut_l_rrrr QAT  DeUlT é]eo
BITL_&6T Gmmmas@' aupmoe, Gaana Qalls B sERssTaT cadwions ep. 1,387
Qupprr. Sfeuir siewearsg B sefigid Goume Qs mHEsTDd 2aflwons 5. 1,752
Qum}ﬁ]@uunn arafled it Cauanar Qsuis: BTLE@ETE &Tehs. o

@A 19 B 21
© 2« D2
(E) “eflenL leﬂu_loﬂ@mcv ’

177. If product of g1ven three numbers 1s 1875 and thelr HCF is 5, then the1r'
LCM s . . . | |

. (A)%5
- (B) 125
(C) 375
D) 450
(E) Answer not known

| .Qa;rr@asauut_t_ @66@1 eraras il e Qu@&amuwm 1875 mmgmo é{@Jﬁ)!ﬂGUT
B.GAum.eu-5 erafed e{mmgﬁ]m 5. Qurr o

A 75
(B) 125
(C) 375
D) 450

(B) oo Aslucioma

CCS4T/2022 T Ly



178

+179.

94 is d1v1ded into two- parts in such a way that the ﬁfth part of the ﬁrst

-and the elghth part of the second are in the ratlo 3 : 4. Then the first part
,]_S ’ . » . .

@ 28 o

© 3% - (D) 40

(E). Answer not known -
obdlel @ LUGH Wwhmb eriiger @@ U@Q eTanm @) U@Qu_lrras Lcﬂrﬂasasuuu_
eregor 94- @m aﬁlaﬂgm 3 : 4 aalld siger s u@ﬁ o :

Aa) 28 » “(B) 30

(©C) 36 B : - (D) 40.

(B) &l Qsfweidvame | o

A group of letters are given. A numer1ca1 code has been given to each
letter. These letters have to be unscrambled into a’ meanmg Word Find

- out the code for the word so formed from the following. -

- pelgpaliCu . aam  @HUR aprsuul@eaag.  QsdsTely  apsgsemer
@LbEuWiTES Lorr,u),r_ﬁ]u_:mmgg,rra) Glurr@@mm anigeamss Sl s@LD, é{g@TI_ILq.A-

RMENBTU
A A
123 45 6

(A) 625314 . @M

(C) 462815 . ~(D)‘ 542531

(E) Answer not known . -

TS EIseNen Qg,rr@uu arg Cip Qasrr@asa;uu;@ amm@ @m@@m@ Gr@g@&@m

Ldsras a;aszrr@ PV Y3 wrrrrg,mg,a;a;rrasr eresr (GMiud @asmma; SIS,

RMENBU
BURURE AR A
1 2

3 4 5 6
(A 625314 - (B 462531

(0 462315 . (D) 542531

"(B) oL Qsfwueidame

BT & o  CCS4T/2022
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180. How many times cén yoﬁ subtract 10 from.IOO?. >
avl . ®100
©@w - D9
AY(E) “Answer not known -

. 100-a\mps 10-g B TSSEman L) asgﬂésés q,oiq_ulb?

@ 1 | - (B) 100
© 1w DO

"(E) e Gsfucidvme '

181. Mukesh can do = of an work in one day. In'how many days can he -

-complete the same work? - .
@ 2days (Bﬂ—;- days .
(C) 4= days . (D) 5= days
T2 T 2
(E) Answer not known |
| @Ges@'sp @@ Brafléd % uEd Camamw Gaig »(y)Lq.lLI_I_‘H'jrr'T ereiled Grgé,énm 5171?.,6;61?]@')

SlcuCaumamu puewwrs Qedig @yl 2.

A 2% prrLa;eﬁ - (B) 3% BIL&ET
© 4§pngq;m . : (D) 5§EnLa;m L

»(E') @fﬂam_ Osfudlome
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182

A farmer borrowed Rs. 20 000 from a money lender at 4.5% per annum
in simple interest. The amount paid by h.lm to clear the loan after a
period of 5 years is

(A) 74,500 | (B) 215,500 -

(C) 17,000 S (D) T 24,500
(E) . Answer not known o

@ afleugmq 2 20,000-g c%@TQangas@ 4.5%  gafl a.u'_lq.ufﬂsi) @@emﬂt_@@gf,gj_

- sLams QupdprT. LHS cgj,m'r@a;@as@u Germ Sieuit @p@m@w SLener e;qas)l_asa;

- 183.
" sources on T 1500 for 3 years 1s ¥13. 50. The d1fference between the1r rate

- Qeguss Cauamgw QsTens.

A) T4500 - " (B) t15, 500
© 17,000 | (D)‘/z 24,500
(E) oo Qsflweildens

The difference between the simple interest received from two different

of interest is
4) 0.1%
B) 0.2%

(©) 0.3%

(D) 0.4%

(E) Answer not known

1 500—8;@ 3 g an@safa @@ Qmm@mgj @umasaﬂcu @@g@j ac,]ml_gg gaﬂmL_Lq.asslﬂm

eligdlumsd X 13. 50 srafled QJI_Iq. aﬁgrmemﬂan aﬂg@u_m&u)

A 0.1%
(B) 0.2%

(OVE3%

D) 04%

(E) ofenr Qg,lﬂmaﬁla)m@

79 . cCsaT2022
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184. Which is.in-correctly matched? _
(A) - Article 14 — Equallty before law

| (B)JArticle 1.7 .-  Equality. of opportunity in matters of pubhc
‘ employment | | o
(C) Art1cle 21(A) - R1ght to elementary education |
(D) Article 26 _ Freedom to manage rel1g10us affa1rs

» ‘(E) Answer not known

' geu,r_r)rra; Glurr@pjg‘,lummgj THI? |

A srdlus siewniy 9fley 14 —‘&I_L_'Q';él@ﬂ pe élmsurm@m &Lold o
B) <irfwe <9|66)LDL!|_| lﬂlrﬂeq 17 - Glurrgj G@Jmmmrru_luqasaﬂa) &wa_lrru_luu
© | emélu.la) iy Gfley 21(A) - Qgsm_aw E QLJQJLD o fenwd
D) DATAWID emioLi lﬁlfﬂ@.l 26 - swW @Sla.w;rrmmasmerr ﬁneuaﬁla;@m &IﬂGIDLD
(E) L ,Orgrﬂu_raﬁlc‘oma) ' | | | . '

' 185.. The D1rect1ve Pr1nc1ples of State Pohcy of Indlan Constltutlon resembles |
(A) Magna Carta, 1215 . -

(B) Charter Act, 1813

(C)anstrument of Instruct1ons 1935

D) Regulating Act, 1773

(E) 'Answer not known

AT é{gﬁu_lsuml.ouq &rrmrrg,glm mgﬂesm_@\ Gg,,rf)l(g)mmam ——,—%—‘Gunm
Gg,rrmmm élGTﬂLJUQDG)JU_In'@)‘LD . : .

(A) LoT&aTT, sreenb, 1215
"(B) uLlLwéE slin, 1813 ¢ | | |
© ofepsso Geupsee, 1935
N (5) @@m@u@g,@m slLb, 1773 B ’ |
() e Osfucdoma

ccs4Tio22 . .. 80 I .



186. Match the following :

(a) ‘Sarkaria Commission - - 1 Tamilnadu Govt.

- (b) Rajamannar Committee 2. _Akal-i Dal

" (¢) Anandpur Sahib . 3. Supreme Court
| Resolut-ion A o '
(d) Bommai Judgement " 4. Union Government

@ M © @
@ 1 2 3 ’

4
®BvI 1 2 3
© 2 1 3 4
® 3 2 4 1
(E) Answer not known
QuTmSaIs :
| (a) srssmAL acl,,énamu_ub 1. spere é{ry&mma;m
(b) @rrgwérant Gwp | 2.  ismal g,af'Lb'
©) sepglyft srafli Siorend 3. A
(d) Qumbenn &y 4. | wsHu SpETRISD
o @ & © @ |
(A 1 2 3 4
® 4 1 2 3 .
©c 2 1 3 4
@ 3 2 4 1
(E) aﬁ]m; Qg fwelldene
m I - : 81 A‘ - T CCS4T/2022
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187. Match the following:
(a)' The Consumer Protection Act |
(b) The Legal Metrology Act .
(c)- The Essential Commodities Act
(d) The prevention of Black
Marketing Act |

@ O © @

avi 3 2 1
@ 1 2 3 4
© 3 4 1 2
4 1 3 2

(E) Answer not knbvivxi
£g;é;a;da¢mma;a§m @ppwtsl QUTHSSS.
(@) petGauntt LTESIILE o1 L
'(b) a1 siereflud s |
©) gggmmamu QuTpL &6T 51D
(d) sdrars spersLILESSIED SOLY
: 8:l°_I_Lbr
@ ® © @
A 4 3 2
® 1 2 3
) 3 4 1
M 4 1 3
(E) oo Asfuaoma

[T X S NG
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188. Match the following : |

(a) Varahamihira
(b)- Kalidasa -
'(c) Amarasimha

(d) Dhanvantri

@ ® ©

@A 4 3 1
S ® 4 2 1
©ovf 3 2

D) 3 4 1

1
2
3.
4

(d)

2
3
1
2

(E) Answer not known

QurmEsIs.
" (a) -auyrsOyiT

(b) srefigrsn

() <wrfibapr

(d) semaupdl

@ ® ©
@ 4 3 1
® 4 2 1
© 4 3 2
@ 3 4 1

(E) &Mev Gsfweiicrana

ARV R R

.Physician

’ Lexicographer

Sanskrit Poet

. Astronomer -

LO(hSGleuT
siagrHuiiue opAfwi
- FLE(HS qéomﬁ :

amaflued Sidlest

VI
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- 189. _Christianity was first brought to India By ’_ ——— an apostle of
- Christ in the First Century A.D.

(A) Saint Peter , (B) SaintJohn
(C) Saint Matthew - (D | aint Thomas
(E)  Answer not known | "

8.9, g gn‘m,mnmq_m‘él@ggjeu Log,.m Ypdwreild @Gu&aﬁlm ﬁl_urran
———— @aeTe Qamer® Guquul._l_g,j ' o

(A) yefls S _ . (B) l_]asﬂg SRTET
(©) - uefls Cuosy, (D) yaflg gmoed
(E) oflen Agfweilome

190. Arrange the following languages in the chronologlcal order with regard
. to thelr year of being granted the classical language status

1. 'Sanskrlt
2. 'Telugu

- Malayalam
4, »'Tamll .
A) 2,3,4,1 (B) 3,1,4,2
©) 4,231 D DV4, 1,2, 3

(E) Answer not known

s ankﬂa;mm Q&m@mné] g@é,]u@um,m ec{,asur@a;aﬂm éuq.uuml_uﬁla)

aflasiiu@sgls.
1 'famaoéil@gm
2. Qseums
3.  weewmerd
4 oy |
@A) 2,3,4,1 | " B) 3,1,4,2
(© 4,231 g ) 4,1,2,3

(E) &en Qsfwelcvana

CCS4T2022 - | 84 = " o



- 191. Which one of the followmg is the rlght bank tributary of Narmada Rlver‘7
(Ayﬁlran | ' | (B) Burhner |
(C) Banjar : - (D) Tawa
(E) . Answer not known :
@mw@mmmmgjerr @60‘@1 Bio®g é;;,,r_r)ﬁ)]m QURZ SO FIME M G LD.

' (A) Q_Vf)]_ITGW | ‘ . (B) UiTestit

(C)  ugpar ’ D) saur

- (E) aﬂasil_ QsNweileena

192. Match the place of excavation w1th the dlstrlct it 1s located

Place of excavation , District,
() Keezhadi ' 1.  Thoothukudi
®) Korkai .2, Ariyalur |
(c) Gangaikonda Cholapurem, 3. ThanjaVur
(d) Kurumbanmedu 4. Sivagarigai

@ ® ©. @
A) 4 .3 2 1
(B 3 2 1 4
©ovi 1 2 3
D) 1 4 3 2
(E) Answer not known
é{&SQQJITUTI'U_IEdﬂ QL BISMET DIFE DT L S| 60T Qurr@g,gja;

" SisPeungmuEs @l higer DG LD
@) &pg 1. 13g66y
- (c) smems QaranL Gempyrhd . 3.  sEsTap
(d) EmwuaGol 4.  Sasnes
@ O @
A 4 3 2 1 )
B) 3 2 1 4 ‘
< 4 1 2 3
D) 1 4 3 2
(E) ofer Gsflueidoame
u . S s | CCS4T/2022
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193. Which city is known as “Electronic Capitg] of India”?
(A) Hyderabad . (B)Véingaluru’ | SR
. (C) . Chennai - (D) Delhi |
(E) Answer not known ’ : : .
@pHunefer ‘Weraflud so@psTD’ e SIPRSSLILEDL BETD 65 ?
- (A) oapsyTuns ' (B) Qumusenm
(C) Qeemenanr . : D) Qe
- (E) e Qzfualdena -

194. Correctly match the component and its use in a circuit :

Component - Use of the component
(a) Galvanometer 1. Used to fix the magnitude of the current
| through a circuit '

Used to measure current
- Used to measure potential difference
Used to detect the current and its directions

(b) Voltmeter
(¢) Ammeter
(d) Resistor -
o ( b © (@

AVv'4 3 2 1.
® 2 3 1 4
1

1

B

<€ 4 2 3
D) 2 3 4
(E) Answer not known .
@6 Varsngierer Wetenpsmer @isar LU Ler sfwrs QUIHSSS.
} L&@Taaigu Lﬂd’t&h}ﬁ]@l" LIweTLm(®)
(a) sroauGarm Bris 1. WHemspfled  umyd - HaGermiLghar  aTeeu
' Bremrww Qeauw vweTuGEDG

(b) Geumérr S 2. HerGarmiLgos sered
(¢) S | 3. Weranpss Ceumiuim el erefl
(d) Vengerwnsd 4. BenGarmiib wHPDd Siger Hosamwus s Hlu

@ O © @
A 4 3 2

@B 2 3 1
(C) 4 2 3
2 3 4
(E) oo Gsflweloame

CCS4T/2022 86 | - o
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195. When was the first National Educatlon Pohcy formed"

(A) 1964
(CV1968

(B) 1946
(D) 1986

(E) - Answer not known
s Csflu soeils Qaratens eriGLTE &@WITGSGSUIJI_L_Q]?

(A) 1964
(C) 1968

(E) e Gsfusidme.

196. Assertion (A) E

Reason (R)

(B) 1946
(D) 1986

According to Health and Family Welfare policy note
2021-2022, the state government has -effectively
responded to the challenges of Covid-19 without losing

focus on maternal and child care, health initiatives and - -

services and other communicatable diseases and
non-communicatable diseases.

The doctor to patient ratio 1n Tamllnadu is one of the
highest in India.- |

(A) (A) is true R) is false
(B) Both (A) and (R) are true, (R) is the correct explanatlon of (A)
(C) (A) is false (R) is true '
(D)Vﬁoth (A) and (R) are true, but (R) is not the correct explanatlon of (A)
(E) Answer not known

auluygissd A):

- HTFeRTLD (R) :

Gengmd  LHMD  GSGLU ps  Cdararass @jﬂﬂuq 2021-
2022-@en Ly Garell Qsmpm saumelenr Guig g,u’ﬂggas Sin&
fsayb  Hpiurns  seig  saQEEs STL  LHNID  GSPEDS
uymofliy FEHISTT wwpdser wHpid Craar wHpD G9p AsTHo
Gpmisdr wHmIb QsTHpres Crmisefle Hpbu Ceaveuwimhdluig).
@pHwraiier m@g@m@&@m Gg;nunerﬂa;@mrrm el Slgb L&as_
2igsb 2 drareuppled g, LB PBTHILD @mgu

A (A) o awenwo (R) geum v :

B) (A) wpgw (R) rar@w o-arew (R) Graﬂugj (A) -@ar &rﬂu_lrrm eSleT&SLD

C€) Q) say (R) 2awew _

(D) (A) vpmgd (R) @Uam@m o aeow, e (R) ererug (A)-@en Erﬂurrasr

NleT&sd Bjeve.

(E) e Opflweicoana

87 : | - CCS4T/2022
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197 Arrange the districts 1 in descendrng order of having forest cover ‘
@) Dharmapurl )
(11) Erode |
(iii) Vellore
(%) Coimbatore
@ 6, G, G, 6v)
® @, (), 6), i)
© @, @, G, i)
OV, Gv), (i), i)
(E) Answer not known "
mnmL;ra;asmm, Siwar  Qerer@erer  sT(Hsefer .é{ma)@.lés_ Qama(p)
Bricaiesds aygs. |
© pout Ty
@) "Gy | - |
Gii) Gaigrii
(i) GomubLggr
@ 0, G, G, @
B) (i), (v), @), Gii)
© ), 6), ), i)
© G, v), G, G
) oL Gafucioms

CCs4T/2022 - 88 | | | o



198. V_Vhich among the followih_g is/are wrong?

Political Rights include

(1)
@

3).

@
B)
©)

Right to vote

" Right to hold public office

Not to criticise the government

(1) and (2)

(1) and (3)

(2 and 3) .

OWVB) only

(E)

Answer not known

Epsse sppiseile) erg/arenes saupTaTg)?

Sl 2 Mewsdr 2 drarLsdwg.

(1) arésaisEn o faw

2) @iysU Laflsalled Lsall adsEb o Aew

(3) | Sigens Awifléss snlg

&)
(B)
- ©
D)

(E)

(1) wppid (2)

(1) wopd (3)

(_2) wopid (3)
(3)'@1’;@@

AL Asfuciome

89
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199. Wliat are the ornaments of a nation ac_cofdin_g to the sve'quence of
Valluvar? ‘

(1) Wealth
@ doy
(3) Defence

(49 Health

. ®) Yield

v, 1), 6), @, )

B). @), 2),®), @, 5)

© @,®),6),@,01)

D) (1), @, (3), (5), 2

(E) ‘Answer. nof_ khown

BT H@ Sieflsoamaraipemp eldTEmal aHE auflesude g,@ggmquré )
(1) Qsdeud | - |
(2) @eruid
- (3) g

'(4) DerfluferanLo

(5) eflenerey

®» G.0.6.06
B O,,6,® 6
© @, 36,0

O D), 4, 3),6),@
(B) oL Gpflucome

CCS4T/2022 | 0 T



: 200 What are looked upon as the “true jeWels” fo;' anyone byv Thiruvalluvar?

(A)\ : Lo’ve énd Virﬁue

(B Mumility and Pleasant Wordg. ;

| (C) Knowledge and Power
(D)- . Family .Life»a'n.d Renounce_d'Life

(E) vAnSWer npt known
PEAUGESE Hpps é;mﬂa;mma;dmg T pp—— de@QJr'r‘ craipeDE

- &PLA@Senmi? | ‘ o
(A) ey éﬂﬁ)@lt‘o

: (B) Qmﬂmm @enQsmagb

(© o> appgo
D) @mﬁe@m émmm@fp

(E) ofeni leﬂ'meﬁ]djaﬁm

po o | o o1 CCS4T/2022
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' Part—B (General Studies) | -
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Read the followmg mstructlons carefully before you begin to answer the questions.

10.

11.

12.
13.

IMPORTANT INSTRUCTIONS
You will be supplied with this questlon booklet 15 mmutes prior to the commencemént of the’ exammatlon

" . This Question Booklet contains 200 questions,

Part-B of answer sheets of the candidates will not be evaluated, if the candidate does not secure
minimum qualifying mark (40% - i.e. 60 marks) in Part-A. For Part-A qualified candxdates, the Total

. marks secured in Part-A and Part-B together will be considered for ranking list.
' Before answering the questions, you shall check whether all the questions are printed serially and ensure that

there are no blank pages in the question booklet. If any defect is noticed in the question booklet, it shall be
reported to the invigilator within the first 10 minutes and get it replaced with a complete question

. booklet. If the defect is reported after the commencement of the examination, it will not be replaced

Answer all the questions. All the questions ca.rry equal marks.

You must write your Register Number in the space provided on the top right side of this page Do not write

anythmg else on the Question Booklet.
An answer sheet will be supplied to you separately by the room mv1g11ator to shade the answers. Instructions

regarding ﬂ]&g of answers etc.. which are to be followed mandatorily, are nrov1ded in the answer sheet and in the

~ memor ndwuim of admission (Hall Ticket),

You shall write and shade your question booklet number in the space provided on page one of the answer sheet
with BLACK INK BALL POINT PEN. If you do not shade corréctly or fall to shade the question booklet number,
your answer sheet will be invalidated.

Each question comprises of five responses (answers) : i.e. (4), (B), (©), D) and (E) You have to select ONLY ONE
correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet. If you feel that there are
more than one correct answer, shade the one which you consider the best. If you do not know the answer, you
have to mandatorily shade (E). In any case, choose ONLY ONE answer for each question. If you shade more
than one answer for a question, it will be treated as a wrong answer even if one of the given answers happens to be
correct. : : .
You should not remove or tear off any sheet from this Question Booklet.-You are not allowed to take this Questlon
Booklet and the Answer Sheet out of the Examination’ Room durmg the ‘time of examination. After the
examination, vou must hand over vour Answer Sheet to the Invigilator. You are allowed to take the stion
Booklet with you only after the Fxamination is over. . ‘ :

You should not make any marking in the question booklet except in the sheets before the last page of ’
the question booklet, which cah be used for rough work. This should be strlctly adhered to.

Question in S1. Nos 101 to 200 (Part-B) the English version is final.

Failure to comply with any of the above instructions will render you liable for such actlon as.the Commission may
decide at their discretion. .
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